Midterm 2 Bonus Quiz MATH 304 Section 3 Name: S@}u%{m_

Clearly circle " True” or "False” for each of the following problems. Circle ”True” only if the statement is always true.
No explanation necessary.

FALSE (2) Let V be a vector space and let X be an n element basis for V. Then the
coordinate transfer map Kx : V — R” is an isomorphism.
LD

(b) Let X be a subset of the vector space V. If 0 € X then X is linearmt.
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FALSE (c) Assume that V is a finite dimensional vector space. Every spanning set for V
contains a basis for V.
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() If Sisa lubset of the vector space V and @ ¢Span(S), then

S U {#@} is linearly independent.

FALSE (e) If V is a finite dimensional vector space, then any linearly independent set is

contained in a basis for V. , . 6
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(f) There exists a subset X of RS that spans R® and that has four elements.

(g) f U is asubspace of Vand F: V —» W is mhen FU)

has the same dimension as U. !SOWIOQD") St

FALSE (h) Let k' > n. The k dimensional vector space V can have a linearly independent
set with n elements.
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FALSE ())IF:V > Wand G: W — U are linear transformations whose composition,
GF :V — U is onto then G must be onto.

TRUE

GJUF:V —»Wand G: W — U are linear transformations whose composition,
GF:V = U is 1-to-1 then@must be 1-to-1.
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